TATHT - MMGSY (NDB) 0,401 KM
T = 207021




POCO = —
SHOT ON POCO M2 2021/4407 16:27




.KN&..N AT
ﬁwwmmﬁ,m ¢ Dy

M0O0d LNFWIFINSYIW

[z 3/295/25 WA HBamg & LElriit
NOISIAIGQ gns

L 0 0 0 0 0 O e 0 o e e e D e

S9b] ENq T
NOISIAIG 735 7=~ omr smns ot e e
NG N GEN KGN W
7y £
M m
™ b LY ‘a'Md
e %&JM R Fowalagy
UN o g EFof PG pELN Wio4 ATX m_%o;um
M
%\wn&h

ww .wﬁ&ﬁﬁi - POy Jo Wb N




Name of work -1
Situation of work —

gency by which work is executed —

ate of Measurement.
No ang date of
(These four lines
of lhe meg

agreement

shoLild be repeated and the commencement
Surement relfating to each work.)

—

i | rement
Particulars Details of actual measure

Contents
—— No, L. B.

D. |orarea

—_— ]

{ aze Al -

I

N eeee o \{'J}Jw{[ e @mn,s. {:ru.mta;\ *NIZ ‘AW’*L’L

: 1 24 10
1@‘0 VeI P;La hamm Dl /Cb [2a ?f“m‘O‘IﬁJd
j\/imm’ \fp‘ | A'ﬂ?f'/ /'(;-mw\rf Simjn/

=

Ho wbo:—| s2 5:%/3/1@:_.o~m94
( \

DQA? S‘:/)_(%a’l/' + !
h&/? t}[; pﬁo&:‘..’f '~ ‘

-~

@ Pr S@Lfma_ odd pallan 0350
&y, Pﬁﬁ(@cﬁn'wg cl n‘afﬁ ol '
quirubilergo ﬁlz,mo} lendd: . j
712000 ﬂgrEﬂ) = = 1360 M
9% |apenlr Ssp —| - =336 @
2 9Unap.es| 0 SO — = |gw.ev
Pxl%3p-ch w Shp—1| =3ty
lﬁBU»t/\i&méﬁ S — =

YWIL -0 S ,_,\ =

’\\’ | \L” i
\ \

Al

& ey A YA v \,;; £ ,;g-@;’r.-—.c.j

" 91 )

'CL’J R ) (e A,_ Ao e /l‘m,{w-ni
e i i S T o T | (e i O, S5

tion) —
2 iy %((2:93tg‘1%a\ 0 w20

i1




Sch,
"\‘)(}E“‘F_f’_rm No. 134 _

Parti i
ticulars Qe@"jpf actual measurement

No Conterita
\——‘_____L__ B, D. |orarea
11 a7

\@/é‘ﬁ‘ieé 5% |of® fég 26553

ol nhvadd)

@/\/MMJ on NP U,

wnenl] Coscheds Pobmentfqse
24411 ’“/g Vil

Ll

)

Mo | p - | E)

@j_ﬂ%m- 6o [+ ”/él 2 51955+
@%1’) L Selad) oprostdien ]
&o %T/qf vicle| st p= O
@/ZZ 815 0'-7/fm°//4 AC28G=

Q&yg) Cﬂ*m;’;@i.pﬁiu o) H Copbek
qr?w’)b\-—uf’ fuep Jj<p ) i

5‘78‘-3.&"”’15 Wele M-8 -

T @ l
. @%,)L{g.:d.@/m'g%lzlﬁﬁg="’
Gdfs G : |

'0%},—,&).1&107 }7»0 ol cofle
mbacf) | Lowlsf )oppp
BLsE Y '\fs A4 oyl -2 | L — (<
(DI o0 )ar £ kI 900 =

)ggz Laslor=—

L}.d’m/‘ J o sof Cotfis_p | = lab ¢ /L( =2 7 S = o
é-/z 222 Sy =~

929229

e

Ao o [ 22 2|8 22g=9“

}Z’_&. oys/g=
J¢ gt M= | =x® |

S u!f
P 1“ (

£ e =3 i
%tinuatio.rb = ____%\;_:———"
= |




